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QUESTION 1

Which statement is true about a trigger action workflow task?
A. It can be used to call a scheduled event.

B. It cannot be used to trigger a self transition action.

C. It cannot be used to trigger an action in the null state.

D. It can be used to perform an action on multiple records.

Correct Answer: A

QUESTION 2

What happens when a related portal section is deleted from the Related Portal Section library?
A. It requires changes in the Security Manager.

B. It permanently deletes the section from the system.

C. It removes the section as an option for users of the particular portal.

D. It stays on the user\\'s portal until the next time the system is restarted.

Correct Answer: B

QUESTION 3

What is a difference between a regular formula and an extended formula?

A. A regular formula is required as an input to an extended formula.

B. A regular formula does not allow conditional logic, and an extended formula does.

C. Aregular formula can only be used on a Number field, and an extended formula can be used on any field type.

D. A regular formula allows a single input and output, and an extended formula allows for multiple inputs and outputs.

Correct Answer: B

QUESTION 4

Which statement is true regarding a synchronous workflow that uses temporary data and is called using a call workflow
task in an asynchronous workflow?

A. A synchronous workflow cannot be called from an asynchronous workflow.
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B. Since the synchronous workflow was called from an asynchronous workflow, the workflow will use permanent data.
C. There is no user interacting with the data therefore there is no temporary data, and in this case the workflow will fail.

D. A synchronous workflow cannot be called using a call workflow task; it can only be called from a state transition sub
action.

Correct Answer: B

QUESTION 5

When creating a new object migration package, what is a valid Create Mode option?
A. By Date

B. By Modified By

C. By Object Type

D. By Object Name

Correct Answer: A
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